Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Project Name: TOKLAT RESTSTOP BANK STABILIZATION & DENALI PARK ROAD MILE 68 ROAD REPAIR

State: AK Opened at: Vancouver WA
County: DENALI BOROUGH By: Barbara Allen
DENALI NATIONAL PARK AND PRESERVE Date: 06/07/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: /s/ Julee McTaggart

Title: Contracting Officer Date: __6/6/2005__

Contract Awarded to: CONSTRUCTION UNLIMITED, INC. Date: __6/27/2005___

Contractor	Bid Amount	Responsive
Construction Unlimited Inc.	1,124,900.00	
8821 Emerald Drive		
Anchorage, AK 99502		
North Star Paving & Construction, I	1,142,365.00	
265 Wilson Ln.		
Soldotna, AK 99669		
West Construction Company Inc	1,154,483.00	
6120 A Street		
Anchorage, AK 99518		
Great Northwest, Inc.	1,194,201.20	
P.O. Box 74946		
Fairbanks, AK 99707		
Brice Incorporated	1,407,828.00	
3200 Shell Street		
Fairbanks, AK 99701		
BC Contractors	2,241,754.84	
125 E. Int'l Airport Road, Ste		
Anchorage, AK 99518		
Engineer's Estimate	1,085,940.80	

Date: 06/07/05

Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Cons	No. Unit Description 101-0000 LPSM MOBILIZATION Construction Unlimited Inc. North Star Paving & Construction, I West Construction Company Inc Great Northwest, Inc. Brice Incorporated BC Contractors ENGINEER'S ESTIMATE 201-0000 LPSM CONSTRUCTION Construction Unlimited Inc. North Star Paving & Construction, I West Construction Company Inc Great Northwest, Inc. Brice Incorporated BC Contractors ENGINEER'S ESTIMATE 301-0010 LPSM CONTRACTOR O Construction Unlimited Inc. North Star Paving & Construction, I West Construction Company Inc Great Northwest, Inc. Brice Incorporated BC Contractors ENGINEER'S ESTIMATE 401-0000 LPSM CONTRACTOR O Construction Unlimited Inc. North Star Paving & Construction, I West Construction Company Inc Great Northwest, Inc. Brice Incorporated BC Construction Unlimited Inc. North Star Paving & Construction, I West Construction Company Inc Great Northwest, Inc. Brice Incorporated BC Contractors Englie Incorporated BC Contractors		ALL	120,000.00	120,000.00
North	n Star Paving & Co	nstruction, I		230,000.00	230,000.00
West	Construction Com	pany Inc		168,000.00	168,000.00
Great	t Northwest, Inc.			80,000.00	80,000.00
Brice	Incorporated			157,000.00	157,000.00
				474,980.00	474,980.00
ENG	INEER'S ESTIMA	TE		108,000.00	108,000.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
			ALL	35,000.00	35,000.00
North	n Star Paving & Co	nstruction, I		90,000.00	90,000.00
		pany Inc		65,000.00	65,000.00
				28,500.00	28,500.00
	_			18,600.00	18,600.00
				30,000.00	30,000.00
ENG	ENGINEER'S ESTIMATE 01-0010 LPSM CONTRACTOR QUALITY CONTROL AND ASS	30,000.00	30,000.00		
15301-0010	LPSM	CONTRACTOR QUAL	ITY CONTROL AND	ASSURANCE	
Cons	truction Unlimited	Inc.	ALL	35,000.00	35,000.00
North	n Star Paving & Co	nstruction, I		50,000.00	50,000.00
West	Construction Com	pany Inc		40,000.00	40,000.00
				15,500.00	15,500.00
	-			54,400.00	54,400.00
				137,300.00	137,300.00
ENG	INEER'S ESTIMA	TE		60,000.00	60,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
			ALL	20,000.00	20,000.00
	•			25,000.00	25,000.00
		pany Inc		10,000.00	10,000.00
				17,000.00	17,000.00
	_			6,700.00	6,700.00
				46,200.00	46,200.00
ENG	INEER'S ESTIMA	TE		15,000.00	15,000.00
15501-0000	LPSM	CONSTRUCTION SCH	EDULE		
Cons	truction Unlimited	Inc.	ALL	6,000.00	6,000.00
North	n Star Paving & Co	nstruction, I		1,000.00	1,000.00
West	Construction Com	pany Inc		5,000.00	5,000.00
Great	t Northwest, Inc.			750.00	750.00
Brice	Incorporated			2,700.00	2,700.00
	Contractors			104,600.00	104,600.00
ENG	INEER'S ESTIMA	TE		5,000.00	5,000.00

Date: 06/07/05

Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15705-0100	LNFT	SOIL EROSION CON	ΓROL, SILT FENCE		
Cons	struction Unlimited I		400	9.00	3,600.00
Nort	h Star Paving & Cor	nstruction, I		6.00	2,400.00
	t Construction Comp			7.50	3,000.00
Grea	t Northwest, Inc.			13.00	5,200.00
Brice	e Incorporated			4.50	1,800.00
BC (Contractors			27.00	10,800.00
ENC	SINEER'S ESTIMAT	ГЕ		12.00	4,800.00
20103-0000	SQYD	CLEARING AND GRU	JBBING		
Cons	struction Unlimited 1	Inc.	1,628	16.00	26,048.00
Nort	h Star Paving & Cor	nstruction, I		3.00	4,884.00
Wes	t Construction Comp	oany Inc		5.00	8,140.00
Grea	t Northwest, Inc.			6.15	10,012.20
Brice	e Incorporated			6.50	10,582.00
BC (Contractors			10.06	16,377.68
ENC	SINEER'S ESTIMAT	ΓΕ		8.00	13,024.00
20301-1900	EACH	REMOVAL OF PIPE O	CULVERTS		
Cons	struction Unlimited 1	Inc.	2	1,200.00	2,400.00
Nort	h Star Paving & Cor	nstruction, I		850.00	1,700.00
Wes	t Construction Comp	oany Inc		2,500.00	5,000.00
Grea	t Northwest, Inc.			3,500.00	7,000.00
Brice	e Incorporated			3,900.00	7,800.00
BC (Contractors			8,000.00	16,000.00
ENG	SINEER'S ESTIMAT	ΓΕ		800.00	1,600.00
20302-0700	LNFT	REMOVAL OF FENC	E, SILT		
Cons	struction Unlimited I	Inc.	16,200	2.00	32,400.00
Nort	h Star Paving & Cor	nstruction, I		1.25	20,250.00
Wes	t Construction Comp	oany Inc		1.30	21,060.00
Grea	t Northwest, Inc.			2.80	45,360.00
Brice	e Incorporated			1.00	16,200.00
BC (Contractors			2.469	39,997.80
ENC	SINEER'S ESTIMAT	ΓΕ		0.20	3,240.00
20401-0000	CUYD	ROADWAY EXCAVA	ATION		
Cons	struction Unlimited I	Inc.	1,800	9.00	16,200.00
Nort	h Star Paving & Cor	nstruction, I		18.00	32,400.00
Wes	t Construction Comp	oany Inc		20.00	36,000.00
Grea	t Northwest, Inc.			32.00	57,600.00
Brice	e Incorporated			54.00	97,200.00
BC (Contractors			42.222	75,999.60
ENC	SINEER'S ESTIMAT	ΓΕ		20.00	36,000.00

Date: 06/07/05

Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20701-0800	SQYD	EARTHWORK GEOT	EXTILE, TYPE II-B , G	OVERNMENT FURNI	SHED
Cons	truction Unlimited In	c.	2,990	3.00	8,970.00
North	Star Paving & Cons	truction, I		0.35	1,046.50
West	Construction Compa	ny Inc		4.00	11,960.00
Great	Northwest, Inc.			1.35	4,036.50
Brice	Incorporated			5.00	14,950.00
	Contractors			4.698	14,047.02
ENG	INEER'S ESTIMAT	E		1.25	3,737.50
20703-2000	SQYD	GEOGRID, BIAXIAL	, GOVERNMENT FURI	NISHED	
Cons	truction Unlimited In	c.	2,990	3.00	8,970.00
North	Star Paving & Cons	truction, I		0.35	1,046.50
West	Construction Compa	ny Inc		8.00	23,920.00
	Northwest, Inc.			2.00	5,980.00
	Incorporated			5.00	14,950.00
	Contractors			4.761	14,235.39
ENG	INEER'S ESTIMAT	E 		1.67	4,993.30
30112-0000	CUYD	AGGREGATE SURFA	CE COURSE		
Cons	truction Unlimited In	c.	3,500	46.00	161,000.00
North	Star Paving & Cons	truction, I		36.00	126,000.00
West	Construction Compa	ny Inc		69.00	241,500.00
Great	Northwest, Inc.			54.30	190,050.00
Brice	Incorporated			67.00	234,500.00
	Contractors			35.642	124,747.00
ENG	INEER'S ESTIMAT	E 		23.00	80,500.00
55101-3000	LNFT	SHEET PILES, IN PLA	ACE, 12' Lengths, GOVI	ERNMENT FURNISHE	ED
Cons	truction Unlimited In	c.	1,013	140.00	141,820.00
North	Star Paving & Cons	truction, I		150.00	151,950.00
West	Construction Compa	ny Inc		104.00	105,352.00
Great	Northwest, Inc.			158.00	160,054.00
Brice	Incorporated			200.00	202,600.00
BC C	Contractors			288.211	291,957.74
ENG	INEER'S ESTIMAT	E		198.00	200,574.00
55101-3000	LNFT	SHEET PILES, IN PLA	ACE, 16' Lengths, GOVI	ERNMENT FURNISHE	ED
Cons	truction Unlimited In		1,859	170.00	316,030.00
North	Star Paving & Cons	truction, I		150.00	278,850.00
	Construction Compa			124.00	230,516.00
	Northwest, Inc.	•		193.50	359,716.50
	Incorporated			205.00	381,095.00
	Contractors			275.544	512,236.30
	INEER'S ESTIMAT	E		198.00	368,082.00

Date: 06/07/05

Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60201-0800	LNFT	24-INCH PIPE CULVER	T		
Cons	struction Unlimited	Inc.	44	125.00	5,500.00
Nort	h Star Paving & Co	nstruction, I		60.00	2,640.00
Wes	t Construction Com	pany Inc		200.00	8,800.00
Grea	nt Northwest, Inc.			152.00	6,688.00
Brice	e Incorporated			192.00	8,448.00
	Contractors			250.00	11,000.00
ENC	GINEER'S ESTIMA	TE		90.00	3,960.00
60201-1000	LNFT	36-INCH PIPE CULVER	Т		
Cons	struction Unlimited	Inc.	57	194.00	11,058.00
Nort	h Star Paving & Co	nstruction, I		65.00	3,705.00
Wes	t Construction Com	pany Inc		210.00	11,970.00
	at Northwest, Inc.			141.00	8,037.00
	e Incorporated			192.00	10,944.00
	Contractors			260.00	14,820.00
ENC	GINEER'S ESTIMA	TE		115.00	6,555.00
60501-0000	LNFT	STANDARD UNDERDE	RAIN SYSTEM		
Cons	struction Unlimited	Inc.	190	120.00	22,800.00
Nort	h Star Paving & Co	nstruction, I		40.00	7,600.00
	t Construction Com	pany Inc		65.00	12,350.00
	nt Northwest, Inc.			158.00	30,020.00
	e Incorporated			75.00	14,250.00
	Contractors			169.21	32,149.90
ENC	GINEER'S ESTIMA	TE		55.00	10,450.00
61001-0000	LNFT	HORIZONTAL DRAIN			
	struction Unlimited		700	111.00	77,700.00
	h Star Paving & Co			110.00	77,000.00
	t Construction Com	pany Inc		139.00	97,300.00
	nt Northwest, Inc.			132.00	92,400.00
	e Incorporated			143.00	100,100.00
	Contractors			183.714	128,599.80
ENC	GINEER'S ESTIMA	TE		85.00	59,500.00
62201-0250	HOUR	DUMP TRUCK, 10 CUB	IC YARD MINIMUM	CAPACITY	
	struction Unlimited		60	100.00	6,000.00
	h Star Paving & Co			115.00	6,900.00
	t Construction Com	pany Inc		120.00	7,200.00
	at Northwest, Inc.			200.00	12,000.00
	e Incorporated			133.00	7,980.00
	Contractors			260.00	15,600.00
ENC	GINEER'S ESTIMA	TE		150.00	9,000.00

Date: 06/07/05

Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62201-1550	HOUR	BULLDOZER, POWER	R ANGLE AND POWER	R TILT BLADE, 60HP	MINIMUM
Cons	struction Unlimited Inc		16	180.00	2,880.00
Nort	h Star Paving & Constr	ruction, I		125.00	2,000.00
	t Construction Compan	y Inc		140.00	2,240.00
	t Northwest, Inc.			200.00	3,200.00
	e Incorporated			167.00	2,672.00
	Contractors			263.00	4,208.00
ENG	SINEER'S ESTIMATE			160.00	2,560.00
62201-3150	HOUR		ATOR, CRAWLER MO WITH THUMB ATTA		ARD
Cons	struction Unlimited Inc		16	180.00	2,880.00
Nort	h Star Paving & Constr	ruction, I		150.00	2,400.00
	t Construction Compan			160.00	2,560.00
Grea	t Northwest, Inc.			250.00	4,000.00
Brice	e Incorporated			175.00	2,800.00
BC (Contractors			288.00	4,608.00
ENG	SINEER'S ESTIMATE			215.00	3,440.00
62301-0000	HOUR	GENERAL LABOR			
	struction Unlimited Inc		16	80.00	1,280.00
	h Star Paving & Constr			75.00	1,200.00
	t Construction Compan	y Inc		80.00	1,280.00
	t Northwest, Inc.			90.00	1,440.00
	e Incorporated			100.00	1,600.00
	Contractors			100.00	1,600.00
ENG	SINEER'S ESTIMATE			90.00	1,440.00
62405-0300	SQYD	PLACING CONSERVE			
	struction Unlimited Inc		939	24.00	22,536.00
	h Star Paving & Constr			2.00	1,878.00
	t Construction Compan	y Inc		15.00	14,085.00
	t Northwest, Inc.			8.00	7,512.00
	e Incorporated			9.00	8,451.00
	Contractors SINEER'S ESTIMATE			25.559	23,999.90
ENG	INEER S ESTIMATE			25.00	23,475.00
62903-0000	SQYD	CELLULAR CONFINE			
	struction Unlimited Inc		330	74.00	24,420.00
	h Star Paving & Constr			50.00	16,500.00
	t Construction Compan	y inc		20.00	6,600.00
	t Northwest, Inc.			67.00	22,110.00
	e Incorporated			57.00	18,810.00
	Contractors			232.787	76,819.71
ENG	SINEER'S ESTIMATE			60.00	19,800.00

Date: 06/07/05

Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63502-0600	EACH	TEMPORARY TRAFF	IC CONTROL, BARRIC	ADE TYPE 3	
Con	struction Unlimited In	c.	8	290.00	2,320.00
	th Star Paving & Cons			60.00	480.00
	st Construction Compa	ny Inc		150.00	1,200.00
	at Northwest, Inc.			200.00	1,600.00
	ce Incorporated			390.00	3,120.00
	Contractors GINEER'S ESTIMAT	E		140.00 500.00	1,120.00 4,000.00
63502-0900	ЕАСН	TEMPORARY TRAFF	IC CONTROL, CONE, T	YPE 28-INCH	
Con	struction Unlimited In		15	32.00	480.00
Nor	th Star Paving & Cons	truction, I		25.00	375.00
	st Construction Compa			50.00	750.00
Gre	at Northwest, Inc.			65.00	975.00
Bric	ce Incorporated			74.00	1,110.00
	Contractors			105.00	1,575.00
ENG	GINEER'S ESTIMAT	E		60.00	900.00
63502-1500	EACH		IC CONTROL, WARNIN		
	struction Unlimited In		8	38.00	304.00
	th Star Paving & Cons			60.00	480.00
	st Construction Compa	iny Inc		100.00	800.00
	at Northwest, Inc.			60.00 81.00	480.00 648.00
	ce Incorporated Contractors			125.00	1,000.00
	GINEER'S ESTIMAT	Е		85.00	680.00
63502-1700	EACH	TEMPORARY TRAFF	IC CONTROL, WARNIN	NG LIGHT TYPE C	
Con	struction Unlimited In	c.	8	38.00	304.00
	th Star Paving & Cons			60.00	480.00
	st Construction Compa	any Inc		100.00	800.00
	at Northwest, Inc.			60.00	480.00
	ce Incorporated			81.00	648.00
	Contractors	-		137.00	1,096.00
ENG	GINEER'S ESTIMAT	E		85.00	680.00
63504-1000	SQFT		IC CONTROL, CONSTR		
	struction Unlimited In		110	100.00	11,000.00
	th Star Paving & Cons			20.00	2,200.00
	st Construction Compa	iny inc		110.00	12,100.00
	at Northwest, Inc.			150.00 47.00	16,500.00
	ce Incorporated Contractors			128.00	5,170.00 14,080.00
	Contractors GINEER'S ESTIMAT	F.		45.00	4,950.00
LINC	STAPPICO POLIMIALI			73.00	+,>>0.00

Page 7

TABULATION OF BIDS

Date: 06/07/05

Bid Schedule A

Project No.: AK PRA-DENA 10(21) & 10(22)

Item No.	Item Unit	Item Description	Quantity	Unit Price Am	ount